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VORL —DES164 ANTARKTIS MESIUVE JHSG  Autarihe- Aulage
) 7 cory '
n
TR Ar - INPUT: " Typ. Values 9 4
B= N*R= 0,492 RADIUS ,m= 5 «>f (%]
2arow | TSR?= 2,6/B= 5,28 BLADELENGTH, m= 56
theor. TSR= 2 30 BLADEW!DTH ,m= 0,82
,  AREA , m= 56
Fora selectedwindsp. @~ ¢m = 0,12 0,02t0 0,16
give in cm and TSR T lPSPEEDRATIO" 2200t03
. eta= 085
rho ,kg(m’*— 1,22 cp= 0,26
[v(m/s) u(m/s) f(Hz) omega(i/s) Uv) M(Nm) Pmech(W Pel(W) |
0 0 0 0 0 0,0 0,0 0,0
1 2,2 0,0701 0,44 0,869 20,5 9,0 77
2 4.4 0,1401 0,88 1,738 82,0 72,1 61,3
3 6,6 0,2102 1,32 2,606 1845 2435 207,0
— 4 8,8 0,2803 1,76 3,475 3279 5772 490,6
5 11 0,3503 2,2 4,344 5124 11273 958,2
6 13,2 0,4204 264 5213 7379 19479 557 hut,
7 154 0,4904 3,08 6,082 1004,3 = 3093,3 2629,3 Mf”‘“
8 17,6 0,5605 352 6,95 1311,7 4617,3 39247 Wir
9 19,8 0,6306 3,96 7,819 1660,2 65743 55882 @~
W @ P ojo06 44 8688 20496 90182 76655  Mpuit= 100w
11 24,2 0,7707 4,84 9,557 2480,0 12003,3 10202,8
12 26,4 0,8408 528 10,43 20514 15583,5 13246,0
13 286 0,9108 572 11,29 3463,8 19813,1 16841,1
14 30,8 0,9809 6,16 12,16 40172 24746,1 21034, 1
15 33 1,051 6,6 13,03 4611,6 30436,6 258711
16 352 1,121 7,04 139 5247,0 36938,7 31397,9
17 37,4 1,191 7.48 14,77 59233 44306,6 37660,6
18 396 1,2611 7,92 15,64 6640,7 52594,4 44705,2
19 41,8 1,3312 8,36 16,51 73991 61856,1 52577,7
20 44 1,4013 8,8 17,38 81984 721459 61324,0
21 462 14713 9,24 18,24 9038,7 83517,9 70990,2
- 22 484 15414 9,68 19,11 9020,1 960262 81622,3
23 506 16115 10,12 19,98  10842,4 109724,9 93266,2
24 52,8 16815 10,56 20,85  11805,7 1246681 105967,9
25 55 1,7516 11 21,72  12810,0 140910,0 119773,5
Z- //‘1(//41;
e«——  B=049  eta=0,85  rho=1,22 R=5BL=5 v(mis) '
ety pel HM56(W) [_rot HM56(HZ TSR HM56 cp HM56  'cmHM56
f_ vofor A—,V
TSR= z..’fi'e
v
leca ety =0, F5
Cpmaxf = 0,3¢ Ly
b -4 1500 0,56 2,93 0,24| 0,082 6 2
0,26 2500 0,58 2,60 0,25| 0,096 7 T Aot
g 4500 0,59 2.32 0,30| 0,131 8 5 AP
i 7000 0,64 2,23 0,33| 0,148 9 A= 2,0%
P Ssomolr o ol 2,10 0,31 0,147 40
047 11000 0,75 2,14 0,28 0,133 11
Q& 17000 | 0,78 . 2,04 0,34' 0,166 12



